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01. s = et szt iy

A= B. ast (. wwem D. T=
02. "English is spoken all over the world.! — Active form of the sentence is -

A People speak English all over the world B. All over the world English is spoken

C. People speak English. D. English is spoken by people all over the world.
03. =ffe ¢% T, 500 Bie1a 3 ILET A3 AW T Ol

A 25 B. 50 C 75 D. 15
04, FACATIIET *reean FTem e A

A 70-80 B. §0-50 6070 D. 50-60
05. (x +3) (x—3) = 16 T, x 9T T F57

A 16 B.9 o] D. 4
06. 10% = TP G P14 2 TR W% [T 720 BT G0 314 @ By

A 650 B. 580 A D. 700
07. = #Hf6 Rerer Free

A, T + 7T = AT B. *7 + *@ = s=m C. T+ o = Trmw D. AF 4 7 = TEH
08. SfEmd & wfrwm I

A, TmrITETS B. &E57 C. =IO D. cm
09. ‘FEIFE o formre

A. Frefferr B. e C. Tenfrr D. #frx
10. "He is beiter than any other boy in the class." Negutive form of the sentence is -

A. No other boy in the class is the best than him B. No other boy in the class is better than he.

€ Mo other boy in the class 1s as good as him D. No boy is better in the class
11. ARG TP 17

A Frft B.3% C. oy D. g
12. "They did not allow a drunken man in the meeting.” Here "drunken” is -

A adverb B. noun C.verb > adjective
13. CROTO WY AT = (o7

A. oEi B. 7@ C. T D. s
14, Fisa @S cawe iR «mer anr

A. by B. aras C, W D. w¥m
15, 4= Bee vt e sTEs Foe

A. st B. 53¢ C. #uw D. 8w
16. TR AR ETEF 2

A. TGS B. 7% e C. et 9 D. 7B s
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ey feramr &5 iR = 48T 2033-20%0 PR o 8 TR
68. SfETFT 7% THIAY T FA0?
A. Frar 9 st faer B. far e wmf C. w3f 8 =T awE D waf g syrerganfy fat
69. Tt CAFRIATE G Y SrwETe ArysTar ey e e wwe
A Fot g et B. $5FCw C TIETE D. atett wairedt
70. ‘st r wed Frame?
A T B und C. favrirend D, 7
71. ARESS CTIETIR A0G ST THET 07 @107
A BB B. &=t C. G D) v
72. A @G REFT SYR?
A.23 B. 13 C.1/5 D 33
73. He never tells a lie’. — Affirmative form of the senience Is —

4.

15

76.

T1.

78.

79.

85

A le always speaks the truth.  B. He speaks the truth. C. Hetellsa lie.

FreT 6 < TR TR ST 9:3 R, BN TEE AR Lo TR | IR TETH A IS TE7
AlS B. 19 C.25
The man died —— over eating. Fill in the blank with appropriate word.
A for B. of C. by
*The man is extremely tired' Here 'extremely’ is-
A. adjective B. verb C adverh
froz efie s e wgw by
A SIS R ST B. fafss s % C. fafss Beror
W & R o T T
A T (o B B3frm om C. 7pfivas o
e fHTsE e oo e (4T AT ST wafgey
A. ot B. T C. a5l
. What Is the synonym of the word "refusal’?
A. acceptance B demal C. acknnowledgement
GG (IR TR =i
A ¥ TEE B. el #de C. TaiTar ST
. ‘moe] 758 e -Translate into English-

A. Henesty is a better policy  B. Honesty is a noble virtue C. Honesty is a good virtue

. CHITAT 997 7 20kg 1 3E0F g5 IE?
A 98N B. 98N C. 20N
. feww fefes voftser 7 oftr
A D gwa G B. cifaen C. WIST “ruf
TR O @ T O T U et foes v
A6t B.s% cz2e

D, He never speaks the truth.

D.9

D from

D. noun

D. 1T

D, Frefiet spefe omt

D freT

D, consent

D 75& «fgaem 8 o1 e

13 Honesty 1s the best policy

D 196N

D, wamar

D4®
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ey ffae feramr B9 R =fF 78w 2033-2030 CMTR o © Ty
34, Fra @t wirgs i
A, g B. W40 C. SIITEFLD D. a5
35. b WE 399 INAY WEHSIF (AT WE FEA @ NGER
A. G B. toFe C. s D, rafws
36, ‘wrava e anterm =¥
A. T =t B. 7 =iy C. "1 w5 D, et wfEat
37. IRMHCR FAGL RIwTIT (1T CFAILT
A. TFAEE B. 53T C. “purerar D. TSt
38, ‘T WA % TRRFT @G
A. % 9 otfa R. was afa C. 77 v o D, ==t mfdg sur
39. '"They called — a doctor.’ Fill in the blank with appropriate preposition.
A of B. for C.al D
40, 407 EFE @FIAoT
A. NaHCO; B CuSO, C. Na,; SO, D, FeSO,
41, % wer Earew (BMI) T wite pe e Rae o=t @
R=05 B.>20 C.>30 D.>35
42. What is the feminine gender of "Drone’'?
A Bee B. Hen C. Doc D. Ewe
43, IRMMOEITE Vgl AR au ot @EG?
A. TS B. ¥ C. T8 D. mfm
44, B e =t crElr
A. 3-T% B. rarea-fasia C. M- D. wefet-7rrefit
45. ARWTICeR e A7 i A= f
A, Tt TS CEhET B = fedm wmafam givgdt C. (¥ R D, afEwr gt
46. TR I WA AT eTEH I @
A TEEE TP WY B. fromysq C. 731y s D. cspifsfirgam Stga
47. T BRI SRS AGTH e TP
A g B. % C. #faat D wr
48. “TRE’ (T AR TN
A faorr B s fapr C. 7w D, s
49. ‘CToRE WAL @ Y BT Cor ST T
A ¥ B. 5% ¢ =fmm D. fsoifem
50. STER WITE G sy I I
A sifsrg B. =raprivy C.werey D. ez
51. et sereer Rorra 91 e iy i wrw wre sEren
A sl B. 73t =fa ¢ fordt =fa D. tees o
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TIECE T2 FIT 2 wey s

86. ‘curifere e srsfor Tife am

A, TSI e B. @ zeam C. T T D i faamirs
87. He is going to buy a car.-Passive form of the sentence is-

A. He has bought a car B A car 1s going to be bought by him

C. A car is bought by him D. He is buying a car
BS. TIMTHTT A 1§ ST 87

A 20° (s B 2w’ C.¥%° G D. 29° o1
89. Fill in the blank with appropriate word' ‘Students should be attentive —— their lessons.

A. over B. at C 10 D.on
90. fargrerm o= e T s o aom

A. s B. TTTRT C. Swet D
91. =l g 7ft wwy ot WA 35° € 75° T, $EN erfty ey

A 907 B. 35° C.75° 7o
92, IR ST @ MIATE = T @HO?

A Tefisrg B. T C. % D. %7y
93, T CTY (1 12T (T YT FEW

A TPre o =i B. e 9 Ty C. v s Wimem D, 7w § *Tme
94. fitsa It SR wifty

A wf B C T D srgafs
95. CRIGH, ComITEsE, Hrrwdma Tenfire fr wrm pe TRET Oy

A, g B. ¥t 7= C. argfza pvw D. fratfas e
96. “=fi AFACS == 58" Which following phrase is appropriate?

A. Many cooks spil the food B Too many cooks spoil the broth

C. Many monks misuse the gas D. Too many monks destroy the gas
97. firsa et et “fedm

A. ST VT (AT AT B. cowery whre o C. T3 oo onfy Temr D, Tt onfars gy zem
98, FIHL SFAT fiFE SHEE?

A AW B. AT (ICACF BIF TR C. oSS D. =fa ©fw i e
99. ASFET IS & T

A. TSI ST WA Tem B. T3 «(F T aem

C. 7% SbiF+7 «1Fr +rg oemm
100. TGS Frramer T S5 0 THEER G S0 1 o T
A = B. *nfratfrs

I 7% feramgifara «frar 3 sram

C. areiafes D, e
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AT T72S T2 oA

ey i

55.

57.

59.

61.

62.

65.

67.

. TR RS 220 o Ay

A. TSR e FTE W ST B. SIETwe SEEy

C TFAF (¢ I TEEE D. SISt o 37T
. sz et “nfice 5 dge T

A @ s B. Tafrshs afrs C. Trfear grards
. o I oty (R e i woe

A T B. (v C. o

TR wey A 5T @Eby

A =fiow B. TSIhie™ C 3R 7y
. '"They came home after the rain—" Fill in the blank from below,

A stopped B. has stopped € had stopped

(x=y)=2aR xy =24 T, (x +¥) T TH ¥E7?

A 20 B. 100 C. 48

WS B 5 o iy

A ararni B. FArer C. 53T

Ty 1 | et wfge

A feafiteraim B. Feifeg= C. 53R
. ‘AT G S Ty

A wrafa B. 7gh= C wafa

i Rfrefiee 7o oy oo o & a0 o

A =Rt B. SRt ¢ =fsn

a1 orga s v fermfEbn

A u.3¢ fererfasm B. v.¢o Ferrfabm C. b.»0 Frfiee
. ST WeH T o b

A e B. ¥ C. s

. " (40 OIS B T- Translate into English

A Tt is raining cats and dogs from morning.

D, fbf

D. o% 771w

D, W& Ty

D. stop

D 10

D, et

D =i

D, [t

D. faresa

D. 9.%0 ferenfism

D. WA

B 11 has been raning cats and dogs in the morning

C. It has started raming from mommg. D. It has been raining cats and dogs since mormning
AT (I e (Spfe
A, AT B. AT C wfarrh D, theare
. wTE wTef MG sptrem fsw co st o wiey
A. = oA ot e e B. W= g @
¢ o S R efrrs w D. St Fibrr wrer fb e oy o
‘ol @ I W T Y
A. e B. R
C. sy I vt
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“AGTATCT 7T FIT LA =Ty fafee
17. "Every mother loves her child."— Negative form of the sentence is —

A There 15 no mother but loves her child B. No mother loves her child

D. No mother does not love her child B. Every mother do not love her child.
18. wrwpifae Berm wifin (RFren) wrewn oot wdae v v B o

Ab B.a C. 3 D.so
19. Choose the correct spelling —

A Competition B. Competision C. Competetion D. Compitition
20, “=I¥Tw Breuts’ ey wRiET?

A, TS B. T=ifr . wmfan D. fFeamt
21. IRATHCT FAG <A &feghe 1= oty

AL TG B, TEgmsy C. cr=maire D. Trara{s
22, IRV AL B I0A @I comir wafgs?

A. Froee B. TT9 C. TaRTSTTSy D. T
23, SIS AT I CRTECIT T3 AT QLA

A. 3¢ T, 3343 B. 3) «ferT, 3593 . 39 @fem, S»q3 D. 3 fstram, y»ay
24, Fosw it frow onifem tafily =

A. T B B. TR, 73 ¢ 1ein C.pH=7 D, fqw erfrardt
25. by @R TwrrE oy gy iR Arm v coEty

A WS B. 31 C. s¥ D. fo=n
26, TG Gt 7

AT B. = C. 3R D. 5%
27, T AT 10T F1 0T g e -

A VG T B. gt cafi ., oy cafe D. gttt caft
28. (a + b)' 97 @ @Eb?

A a'—2ab+ b B.(a+b)(a-b) Cal+h? D al - 2ab+ b
29. "He is Bangladeshi—— birth! Fill in the blank with appropriate preposition.

A by B.in

C. from D. at
30. "It is u beautiful bird." Here 'beautiful’ is -

A. Pronominal adjective B. Quantitative adjective C. Numeral adjective D Qualtative adjective
31. "He woke up when it was raining. — Trunsform it to simple sentence,

A. He woke up and it was raining. B. He woke up after the rain had stopped.

€ He woke up at the time of raiming D. He woke up after the rain.
32, @ @E o agE o fie g

A OTR1 @ CmEl B. =t e B C. v 8 wrfafm D. frrsrT @ war
33. ‘Tvol ov IW0 @ urdly 37

A, Tl A B. w09 a7 . 7 A D. fx 7197
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